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DIPLOMA IN DAIRY TECHNOLOGY 
(DDT) 

Term-End Examination 

June, 2017 

BPVI-013 : MILK PROCESSING AND PACKAGING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry 

equal marks. 

1. Fill in the blanks in the following : 	5x2=10 

(a) The index microorganism for the 
pasteurisation of milk is 	 while 
same for the thermal sterilisation 
is 

(b) The ingredients for the preparation of 
reconstituted milk are 	 and 

(c) LDPE is used for the packaging of 
	 milk while paper board 
laminated with LDPE is used for the 
packaging of 	 

(d) The detergent mixture of soda ash and 
sodium bicarbonate is used for 	 
cleaning while the 	 is the most 
commonly used for CIP. 
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(e) The alcohol test is used to judge the 

	 of milk while the COB test is 

used to judge the 	of milk. 

2. State whether the following statements are true 
or false : 	 10x1=10 

(a) F0  value is used to express the heat 

resistance of microorganisms or enzymes. 

(b) The milk constituent present in highest 
concentration in milk stone is protein: 

(c) The mechanical treatment to reduce the 
microbial load of milk is bactofugation. 

(d) The Rinse test is used to judge the 
effectiveness of sanitisation of dairy 
equipment. 

(e) For low pH sanitisation, the acid anionic 
sanitisers are most effective. 

(f) HNO3  is the most widely used detergent for 

CIP. 

(g) Bactofuge has more speed than clarifiers. 

(h) Homogenisation is a must during the 
preparation of recombined milk. 

(i) A flavoured milk drink has more milk fat 
than flavoured milk. 

(j) Fortification of milk is done with minerals 
and vitamins. 
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3. Write short notes on any five of the 
following : 	 5x2=10 

(a) Bulk Vending of Milk 

(b) Procurement of Milk through Cooperatives 

(c) Single Use Packaging of Milk 

(d) Homogenisation of Milk 

(e) Chocolate Milk Drink 

(f) Requirements of a Good Detergent 

(g) Mode of Payment for Milk 

4. What considerations will you keep in mind 
before establishing the following ? 	2x5=10 

(a) Milk Collecting Centre 

(b) Milk Chilling Centre 

5. (a) What are the advantages of using a 
combination of detergents ? 

	
3 

(b) Homogenisation of milk has certain 
advantages and disadvantages. Explain 
these. 

(c) Why has UHT milk not become very popular 
in our country ? 

6. What are the different systems of milk 
procurement in our country ? Write merits and 
demerits of each. 10 
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7. (a) What are the different methods for 
payment of milk ? Write merits and 
demerits of each. 4 

(b) What are the different methods to judge the 
effectiveness of sanitisation ? Explain each 
in brief. 	 4 

(c) How is the extent of heat treatment of UHT 
milk judged ? 	 2 

8. Write the FSSA standards for the following : 5x2=10 

(a) Full Cream Milk . 

(b) Standardised Milk 

(c) Toned and Double Toned Milk 

(d) Recombined Milk 

(e) Flavoured Milk 
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